4500

4000

3500

3000

2500

2000

1500

1000

500

5000

4000

3000

2000

1000

Run 5971 quartetwise, posHQ: Beam DH
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Run 5971 quartetwise, asym0Osub: Beam ON
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Run 5971 quartetwise, negHO: Beam DIN
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-------- Histogram Vars
Positive Hel (ON): 14.576804 +/- 0.003845
Negative Hel (ON): 15.337041 +/- 0.004059
Positive Hel (OFF): 2.952544 +/- 0.002756
Negative Hel (OFF): 2.954049 +/- 0.002751

-------- Sums and Diffs

On Diff: -0.760237 +/- 0.002412

Off Diff: -0.001504 +/- 0.001713

On Sum: 29.913845 +/- 0.007530

Off Sum: 5.906593 +/- 0.005234
-------- Asymmetries

On Asym: -31.666983 +/- -0.101184 (ppt)
Off Asym: -0.062665 +/- -0.071336 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 24.007253 +/- 0.009170
BkSub Asym: -31.604319 +/- 0.123802 (ppt)




asym (AccO) / ppt

posHO

Run 5971 quartetwise, posHO vs time
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Run 5971 quartetwise, asym0Osub vs time
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Run 5971 quartetwise, negHO vs time
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Run 5971 quartetwise, bcm vs time
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